
22nd April                                                     22nd April                                                     

938 + 93 600 - 352

347 x 7 28 x 63

Round 2983 to the nearest 10.

50 people attend a wedding.

- 21 people had the pork.
- 50% of the guests had chicken.
- The same number of guests had 

beef as the vegetarian meals.

What fraction of the guests had 
pork?

What fraction of the guests had 
beef?

Name: ______________                                    5-a-day                                               Numeracy
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